Trigonometric Functions - Class XI

Related Questions with Solutions

Questions
Quetion: 01
A
if S22 E, where A # B, then
cosB y
rtan A+ ytan B A+ B
A. = tan
r+y 2
rtan A —ytan B A-B
B. = tan
r+vy 2
c ysinA+4rsin B sin(A+ B)
‘ysinA —zsin B sin(A — B)
D.xcosA+ycosB=0
, cosA cosB
Given = = Al[say]
T Y
rtanA+ytan B sin A +sin B A+ B
[al = = tan
T +y cos A + cos B 2
rtanA —ytanB  sin A —sin B A-B
[b] = = tan
T4y cos A 4 cos B 2

(€ ysinA+zsin B sinAcosB +cosAsin B sin(A+ B)

ysin A —xsin B sinAcos B—cos Asin B sin(A — B)

Correct Options

Answer:01
Correct Options: A, B, C



